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NAME	DATE	PERIOD

[bookmark: X368d76dcba1cfed147a149a840fee8a22b6637c]Unit 6 Lesson 11: Zeros of Functions and Intercepts of Graphs
[bookmark: which-output-is-0-warm-up]1 Which Output is 0? (Warm up)
[bookmark: student-task-statement]Student Task Statement
Which of these functions have an output of 0 when the input is -4?
· 
· 
· 
· 
[bookmark: intercept-detective]2 Intercept Detective
[bookmark: student-task-statement-1]Student Task Statement
Here are the definitions of some functions, followed by some possible inputs for the functions.









Possible inputs: -5, -4, -3, -2, -1, 0, 1, 2, 3, 4, and 5.
1. For each function, decide which input or inputs would give an output of 0.
1. Here are graphs of , , and . Label each intercept with its coordinates, and be prepared to explain how you know.
· [image: /app/tmp/embedder-1646721040.1961799.png]
[bookmark: making-more-connections]3 Making More Connections
[bookmark: student-task-statement-2]Student Task Statement
1. For each function, identify the input that would give an output of 0.
· 
· 
· 
· 
· 
· 
1. Match each graph to a function in the previous question. Be prepared to explain your matches. 
· [image: /app/tmp/embedder-1646721040.3647273.png]
1. Label the intercepts on each graph with their coordinates.
1. For each function, identify the inputs that would give an output of 0.
· 
· 
1. Create three different functions whose output is 0 when the input is 7. At least one of your functions must be quadratic.
[image: /app/app/assets/images/export/ccby_logo_small.png]
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